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Read the following article, then answer the questions.  
 The newspaper industry needs to embrace the technological 
revolution of the Internet, MP3 players, laptops and mobile phones or 
face extinction, media tycoon Rupert Murdoch said on Monday. 
 “Societies or companies that expect a glorious past to shield them 
from the forces of change driven by advancing technology will fail 
and fall,” he said in a speech to the Worshipful Company of Stationers 
and Newspaper Makers. 
 “That applies as much to my own, the media industry, as to every 
other business on the planet. Power is moving away from the old 
elite in our industry_the editors, the chief executives and, let’s face 
it, the proprietors. 
 “A new generation of media consumers has risen demanding 
content delivered when they want it, how they want it, and very much 
as they want it.” 
 The greatest challenge for the traditional media now is to engage 
with more demanding, questioning and better educated consumers, 
adapting their products for new technology, the Australian-born 
media mogul said. 
 “There is only one way. That is by using our skills to create and 
distribute dynamic, exciting content,” he said. 
 “But_and this is a very big but_newspapers will have to adapt 
as their readers demand news and sport on a variety of platforms: 
websites, iPods, mobile phones or laptops. 
 “I believe traditional newspapers have many years of life but, 
equally, I think in the future that newsprint and ink will be just one 
of many channels to our readers.” 
 Murdoch sparked one of Britain’s most bitter industrial disputes 
over the introduction of new computer technology for journalists and 
printers. 
 In January 1986, he moved his British newspapers the Times, the 
Sun and the News of the World overnight from their historic home on 
Fleet Street, central London, to a purpose-built facility in Wapping, 
in the east of the capital. 
 It was credited by some with not only breaking the stranglehold of 
print unions on a hitherto unprofitable industry crippled by strikes 
but paving the way for developments such as colour printing, supplements 
and websites.  
1. Rupert Murdoch is a .................... . 
 1) professional speaker 
 2) wealthy and famous actor 
 3) well-known economic politician 
 4) powerful mass media businessman 

 
 
 
 
 
 
 
  
2. According to Murdoch, even highly successful companies in the 

past have to approve the advancing technology, otherwise they 
will .................... . 

 1) collapse   2) survive 
 3) be less prosperous 4) lose their popularity  
3. In paragraph 3, “the old elite” refers to the .................... . 
 1) old planet   2) media industry 
 3) executive staff  4) media consumers  
4. Nowadays, the .................... determine what the media industry 

should be like. 
 1) owners 2) consumers 3) government 4) computers  
5. The pair of words closest in meaning are .................... . 
 1) tycoon and elite  2) elite and proprietor 
 3) proprietor and mogul 4) mogul and tycoon  
6. In order to meet the consumers’ demands, the traditional media 

has to adapt mostly in the variety of .................... they use. 
 1) contents  2) techniques 3) platforms 4) qualities  
7. Murdoch think that in the future, .................... . 
 1) traditional newspaper will not be existed 
 2) news will be distributed only in the form of newspapers 
 3) printed newspapers will be the most popular among the readers 
 4) printed newspapers will be one of the various forms needed by 

the readers  
8. When new computer technology was introduced for the news, it 

was .................... . 
 1) well accepted   2) strongly opposed 
 3) unsuccessful    4) a costly mistake  
9. Murdoch moved his British newspapers from Fleet Street to 

Wapping because .................... . 
 1) he wanted to keep the former as a historic home 
  2) the rent for the former place was too high 
 3) the new place was more suitable to apply new technology 
 4) he was forced to move his newspapers factory out of central 

London  
10. Finally, Murdoch’s newspaper was .................... . 
 1) unprofitable but able to develop new products 
 2) highly profitable with a variety of new products 
 3) unable to adapt his production to meet the new technology 
 4) unable to keep up his business because of the strikes  

เฉลย 
 
1. เฉลย 4) powerful mass media businessman 
   รูเพิรท เมอรด็อคเปนนักธุรกิจสื่อสารมวลชนที่ทรงอิทธิพลคนหนึ่ง 
   เพราะ tycoon หมายถึง นักธุรกิจที่มั่งคั่งและทรงอิทธิพล และ  

เมอรด็อคทําธุรกิจหนังสือพิมพ ซึ่งเปนสื่อสารมวลชนรูปแบบหนึ่ง  
2. เฉลย 1) collapse 
   จากคําพูดของเมอรด็อค แมแตบริษัทที่ประสบความสําเร็จเปนอยาง

สูงในอดีตก็ยังตองรองรับเทคโนโลยีที่กาวหนาขึ้นเรื่อยๆ มิฉะนั้นก็จะลมเหลว 
   collapse มีความหมายวาลมเหลว เทียบไดกับ fail and fall    

ในยอหนาที่ 2  
3. เฉลย 3) executive staff 
   ในยอหนาที่ 3 “the old elite” ใชกลาวถึงเหลาผูบริหาร 
   เพราะ elite หมายถึง กลุมคนที่รวย มีอํานาจ หรือมีพรสวรรค  
4. เฉลย 2) consumers 
   ทุกวันนี้ ผูบริโภคกําหนดวาอุตสาหกรรมสื่อจะเปนเชนไร 
   สรุปไดจากยอหนาที่ 4  
5. เฉลย 4) mogul and tycoon 
   คําคูที่มีความหมายใกลเคียงกันที่สุด ไดแก mogul และ tycoon 
   mogul (n.) = นักธุรกิจที่สําคัญ รวย และทรงอิทธิพล 
   tycoon (n.) = ผูที่ประสบความสําเร็จในธุรกิจจนร่ํารวยและทรง

อิทธิพล  
6. เฉลย 3) platforms 
   เพื่อตอบสนองความตองการของผูบริโภค สื่อรูปแบบดั้งเดิมตอง

ปรับเปลี่ยนตามชองทางตางๆ โดยสวนใหญที่ผูบริโภคใชกัน 
   เจาของธุรกิจหนังสือพิมพ รวมถึงสื่อสิ่งพิมพตางๆ ตองปรับตัวให

เขากับเทคโนโลยีสมัยใหม เพื่อใหเขาถึงผูอาน (ซึ่งถือเปนผูบริโภค) ไดงายขึ้น  
โดยยอหนาที่ 7 ไดยกตัวอยางชองทางการสื่อสารที่นิยมใชกันมากในปจจุบัน  

7. เฉลย 4) printed newspapers will be one of the various forms 
needed by the readers 

   เมอรด็อคคิดวาในอนาคตหนังสือพิมพที่พิมพเปนฉบับๆ จะเปนสื่อ
รูปแบบหนึ่งที่ผูอานตองการ 

   สรุปไดจากยอหนาที่ 8  
8. เฉลย 2) strongly opposed 
   เมื่อเริ่มนําเทคโนโลยีคอมพิวเตอรใหมๆ มาใชเพื่อทําขาว ก็ถูก

ตอตานอยางหนัก  
   เพราะ disputes ในยอหนาที่ 9 แปลวา ตอตาน  
9. เฉลย 3) the new place was more suitable to apply new technology 
   เมอรด็อคยายที่ทําการของบริษัทหนังสือพิมพตางๆ ของเขาในอังกฤษ

จากถนนฟลีทไปยังวอพพิง เพราะสถานที่แหงใหมเอื้ออํานวยที่จะใชเทคโนโลยี
ใหมๆ มากกวา 

   ตีความไดจาก a purpose-built facility ในยอหนาที่ 10 ซึ่ง 
หมายถึงสิ่งอํานวยความสะดวกที่ติดตั้งขึ้นเพื่อตอบสนองเทคโนโลยีใหมๆ  

10. เฉลย 1) unprofitable but able to develop new products 
   สุดทาย หนังสือพิมพของเมอรด็อคไมไดกําไร แตสามารถพัฒนา

ใหเกิดผลิตภัณฑอื่น 
   สรุปไดจากยอหนาสุดทาย  

นักเรียนสามารถเข้าไปดูข้อมูลย้อนหลังได้ที่ 
www.bunditnaenaew.com 


